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Second Semester B.Com. Degree Examination, May/June 2019 

(CBCS - Semester Scheme) 

Commerce 

Paper 2.3 - ADVANCED FINANCIAL ACCOUNTING 

Time: 3 Hours] [Max. Marks: 70 

Instructions to Candidates: Answer should be either fully in Kannada or English only .. 

SECTION - AI ~Qe>rl - cJ 

Answer any FIVE questions. Each question carries 2 marks: 

a:iJ;)~oe>odJ.> IDti> c:t~olrl~1i eJ\)~~~. c:t';o3J.>05J.)o 2 ~o5rl~0 : 

(5 x 2 = 10) 

1. (a) Give the meaning of average clause. 

,;Sffi);S~ 5e.>e;.ll) ojoo ~qJF Net3. 

/ 
(b) I What is consignment? 

5(\f~(\fci)oeJ6 (dc;y.)~ ;Sd50 ~~~d) cJoodeCiD? 

(c) 

(d) What is joint venture? 

t)e)OO)oeJ6 ~o~cf cJoodeCiD? 

(e) Give the meaning of departmental undertaking. 

~eTe>:m> ;so~rl~0 {j, ojoo ~dF Net3. Q • 

(f) What are domestic branches? 

~~ea:b ~otJ6rl~ cJoodeCiD? 

(g) Who is consignee and consignor? 
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SECTION - B/~~ri - ~ 

Answer any THREE of the following. Each question carries 6 marks: (3 x 6 = IS) 
a:iJv~rnddJc> a.Ur.>ru ~~<tri~li eI\)~tJ~. ~~ ~tJa:iJvd eI\)~d~~ 6 ~Ot1ri~J : 

2. A fi~e occurred in the premises of Jayanth Co. on 15.10.2018. Some of the 
accounting records were saved from which the following details are available: 

Opening stock on 1st Jan. 2018 

Purchases from 1.1.2018 to 15.10.2018 

Sales from 1.1.2018 to 15.10.2018 

~ 90,000 

~ 4,00,000 

~ 6,00,000- 

Rate of gross profit 

Salvage 

30% 

~ 16,000 

It was the practice of the company to value the stock at 10% less than cost. The 
amount of policy ~ 60,000. There was an average clause. 

Prepare a claim for insurance. 

I 
?;)Qi)o~ t10<r3(\)Qi)~M ~~J()eJ{,2JoG 15, 2018 dOeD e:st1~t1 2.50-& ~<r3~3 ~oQ~~~. ~eJ~ ~~mdd 
rn~e3ri~J ~~ dg~eJ<)~eDQ' ffi ~~t1ori ~~ri~J eJQv~~~ : 

t10<r3(\)o.:bJ a:iJv~rieJJ() ~O~~ ~dt1J CEe)M ~dO~5 ~d-&(d ~~c:3i\D<t 1 0% t1t3ti)a:iJv~ 

rn~~~3d. ~~ ~~~Qi) ~3 ~ 60,000. ~oe>~tJ t1eJ~ t)e)tJQi)~dJ3d. 
_O.J) M ..D 

3. Mr. Arun of Tumkur, consigned 500 kgs of oil at ~ 30 per kg to Mr. Santhosh. He 
paid ~ 4,000 as carriage and freight charges. 

Mr. Santhosh also paid ~ 1,000 towards unloading charges, ~ 2,000 as godown 
rent and ~ 1,500 as selling expenses. Normal loss due to leakage is 40 kgs of oil 
in transit. Santhosh sold 320 kgs of oil at ~ 55 per kg and 19 kgs of oil at ~ 60 
per kg. 

Calculate value of unsold stock. 
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3)c::b5J.>biil ~ru&d~ru 500 ~.23. c::>i."5ab1\0 cj,~ ~.23. c::>i."5li ~ 30 ooj ;3ojJ.)ec;to~bli ;3051\0 ~ ol-' ~ ol 
oc;;.)N~ru3<>d. ~ru&O~ru ~ 4,000 ;;Wffi)E'J~ c:;tS owM ;;wbli c:;tSc;;.)11 ~rcru~ru3<>d. 

-D zj Z.:3 0 ....D 

c:;tS~), ~ 1,5001\0 Net3ru3<>d. ;;lr.)eruc'!)~cruod ~d ;;w~~r iilc;i 40 ~.23. c::>i."5 ~l1ru3rj. 
M" ol..D V M ~..D 

;3ojJ.)ec;to~ru 320 ~.23. c::>i."5ab1\0 cj,~ ~.23. c::>i."5li ~ 55 ooj owM 19 ~.23. c::>i."5ab1\0 cj,~ ~ ol -' ~ ~ ol-' 
~.23. c::>i."5li ~ 60 00$ ~(ft)e.3 ~t3ru3<>d. 

~ ..D 

4. Sundar and Sathish entered a joint venture sharing profit and loss in the ratio of 
3 : 2. Sundar contributed ~ 60,000 and Sathish ~ 80,000. The amounts 
contributed by them were deposited into a joint bank account. They bought 
goods for cash ~ 1,00,000 and from Sundar for ~ 40,000. They paid for carriage 
~ 7,000, rent ~ 2,000, insurance ~ 3,000 and other expenses ~ 4,000. All the 
goods were sold for ~ L80,000. 
Pass necessary joumal entries. 

;i)od~ c::b3) ;3~rn"O~ru eJcJ'lj1 ~ iilc;i~1\0 3 : 2 cj,~['()de') 05o~MJ.>(>,j~)~ 2;:)oe3 ~(ft)e.3 
-D ..D eJol J M v 

~od~j ;3&, ow~dru. ;i)od~o~ru ~ 60,000 c::b3) ;3~easo~ru ~ 80,000 Net3dru. e, iilrid1\0 w " ..D ol 
2;:)oe3 ~rooO ~jli ~ ~t3dru. ~~ru ~ 1,00,000 ;3051\0 .vbetJ~dru c::b3) ;i)od~o~ru v ol..D 
~ 40,000 ?Jcl m(>,j-.)~ ;3051\0 Net3dru. ~~ru ;;Wffi)E'J~ c:;tS ~ 7,000, mt3li ~ 2,000, c'!)c;i) ol M 

~ 3,000 c::b~ ~3d .vruFri(>,j-.) ~ 4,000 .vruF ~t3dru. C::>eJcJM;3051\0ol ~ 1,80,000~ ~bdru. 

~ri3vc;;.)d dJ.>et:D r:Jel.vcl 2Jdcrub. 

5. Prophix Company Ltd., invoices goods to its Kalaburgi Branch at cost. The 
branch sells goods only on cash basis. All the cash received being remitted to 
Head Office account by the branch regularly. 

Salaries 
Rent 
Petty cash 
Stock at branch on 31.12.2018 
Petty cash ob 31.12.2018 

11,200 
5,000 
950 

96,000 
370 

Prepare Kalaburgi Branch Account. 
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::'l~,J>~ tJOcjN Nai)~Y3~' 3cd tJe.>wdtl ae>ro~ ~dtJt\0 o:bv;Je)rlwv e:!I~W t5cl~ NedJ3Q. ffi 
"'U,::<, f'l o.,u cI. cI. ..D 
ae>roo.:bJ ~dtJt\0 cdrld:> c;:$Jc)ffi)~ c;:$Jc)3, c;:$Jc)dJ3d awM t)cdo cj,~ (.)dJcj ~~ cdrlot\0 ~eoo, i5~d) cI. J..D J tv> cI. J 

~$~ ~~o:bvtl c:lrnf"OOJill3d . ..D 

~ 
80,000 

3,600 

16,000 

500 

1,17,400 

ae>ro~ i5w&:to ~di5J 

ae>roOOJoo ;Je)cj;:J<)o ~di5J 
f'l 

~do~i5 tJe)~t\0 1.1.2018 

t3e.>d cdrld:> a5~ 1.1.2018 
tv> 

~e3cdoe>~tl 

?J<) ~ ~ rn tl 

t3e.>d 
tv> 

~ 
11,200 

5,000 

950 

96,000 

370 
t3e.>d cdrld:>a5~31.12.2018 dod:> 

tv> 

6. State the basis of allocation of the following expenses in departmental accoun ting : 

(a) 

(b) 

(c) 

(d) 

(e) 

(f) 

Repairs and Insurance of building _/..', .. ,.' ,.~: 

Depreciation on plant and equipmep.ts/ ~/ J' o it ~ / 
Lighting charges ",; ( r . -2 r-, 
Reserve for bad debts .'1~' .. ..'._ .'-:, \L ~y "I&"::'---__- .f~:f 
Labour welfare expenses ,--z. ~...--:??' ~~.,.;--- 

Commission on sales 

~!!Ji5om ~~~ ~t3rl!!Jt\0 o:bvcj cloe>,mdo e:!Icdai) a5ot3~rlJ3d ~~:t : ~ cI. -o <>:I ..D 

(a) i5~rno 5cje~ ~~ ~c;i) 
~ ..D 

(b) o:bo~ecjtJd~o c;i)e~cd ~cji5~ 

(c) 

(d) 

(e) 

(f) 

~d:>vt3j .0IDf"rl!!JJ 

oe>00J5:to c:l;;0()~rlo ;:J<)e.>rl!!JJ 
Q 

~~f"i5 i5~v~ =, 
c;:$Jc)ffi)eJd c;i)e~cd i5~e;;i~ 
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SECTION - C] :J~ri - :t 

Answer any THREE questions. Each question carries 14 marks: (3 x 14 = 42) 
(}jJ;)~OClOM ~ru ~~«ri~l1 eru~tJ:t. ~"%olJ.>oOv ~~cl1114 e;,05rieJ-> : 

7. The premises and stock of Indra Stores were totally destroyed by fi~e on 
30th Jan. 2018. From the account books and other records that were saved, the 
following information is available. The stock on hand is always being valued at 
10% less than cost : 

2015 2016 2017 2018 
(~) (~) (~) (~) 

Opening stock as valued 76,00 1,14,000 1,52,000 76,000 

Purchase less returns 3,60,OPO 4,30,000 4,60,000 1,50,000 

Sales less returns 8,60,000 ' 7,00,000 8,00,000 2,60,000 

Wages 1,50,400 1,91,000 1,40,000 45,000 

Closing stock as valued 1,t14,000 1,52,000 76,000 
'v 

Prepare a statement for submission to the insurance company in support of a 
claim. 

~otJCJc) ;!r.JeoOrS 5eJli <=5.J;J) ~d50rieJ-> e;,~ e;,(W)a0~tJoo t:;rSt3tJ 30, 20 18, ~O~r;)F~~ 
M N M ~ cl 

iVeJ8~~cb~~. e;,od cl~ <0~5ri~oO g, ~eJ50li c;:0v&,.% e>~e5~~cb~rj. ;!r.JMeoO,P ~d5->rieJ 

OCl;;Je)rS(i}J e;,od ~,Z:> ~cl~o~ ~e5li 1 ° d~ 5ta~ ~clr'i ;!r.)etJ~eJe)~rj : ~ cl ~ M 

- ~:. _;··;-:-'::--:-~·.-:--:-_'2-O.l5 2016 2017 2018 
" \.' . ;, 

, ~-; . _.---. (~) " (~) (~) (~) 
c- // ;.J'\ 

e:9d O~5 0Cl;;Je) <'it> 1,52,000 76,000 "" ~ 76 000') 1 14 000 ~ , ......,J. , , 
~ .~: 

evt3eJ rutJetJ t<'\ , ,... Ii 
4,60,000 1,50,000 ·~/~v 3,60,0~/ 4,30,000 .;s :S - ,?J7·f 

evt3 eJ c;:0v CJc) eJ ~ __ .s.~60 7,00,000 8,00,000 2,60,000 .;s --- 
5J.)e) 1,50,400 1,91,000 1,40,000 45,000 

~~abO 0Cl;;Je)(i}J 1,14,000 1,52,000 76,000 ~ ~ 
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8. Praveen Kumar and Company consigned 1,500 tins costing ~ 600 pertin to their 
agent Amar stores, Delhi. The tins were invoiced at -' ivoice price of ~ 800 per tin. 
The agent sold 900 tins at ~ 810 per tin for cash, 400 iins at ~ 850 on credit. The 
Praveen and Co., paid ~ 5,000 as carriage outwards and ~ 2,000 as insurance. 
They drew a bill on Amar Stores at 3 months for ~ 6,00,000 which was duly 
accepted by the latter. The expenses incurred by the Amar Stores were carriage 
~ 500, octroi ~ 1,500 and storage rent ~ 1.100. They were entitled to 
5% commission and 2% del-credere commission on total sales. They sent their 
account sales to their principal showing as a deduction there from their 
commission and the various expenses incurred by them. 

Prepare necessary ledger accounts in the books of Praveen Kumar and Co. 

r;3,~e~ 5Jc;:0vrY ~3J 50r;3No.:W 3~ ~~oeJG ~~rY ;tr.}erY. da5~l1 r;3,d eJNrt ~~w z,jcl 
-' ..D q_ e.J N -' "l 

(cost price) ~ 600 OO~ 1 ,500 eJiiDii~~ Oc:Je>N~3J. e, eJ~1i~~ ~d eJ~l1 ~o&~ 2Jcl 

(invoice price) ~ 800 OO~ oc:Je>N;;;eJe)F\d. e, ~~oeJGiiD 900 eJiiD1i~iiD r;3,d eJNl1 ~ 81 0 OO~ 
q_ q_ q_ -' q_ 

~1it)1i.Jv ~3J 400 eJiiD1i~iiD, r;3,d eJNl1 ~ 850 OO~ ::Jr>ex.Jelf<) c;:0vffi)eJ c;:0v~c0~rS. r;3,~e~ 
..D q_ q_-' q_ M ..D-' 

dJc;:0vrY 50r;3No.:W a0vo ~bl1 ~zJ ~ 5,000 ~1i.JV ~c;:0v ~zJ ~ 2,0005J.>,_ .0WF c;:0v~c03d 
1.0 1.O"..D 

~~ 50r;3No.:W ~~rY ;tr.}e.JerYN ~ee3 3 d01i~ffi)F\ a0o~ab~ ~~ ~~jd ~~ ~ 6,00,000 

e:9F\dJ, ~~oeJc0 wctl1 Ne~rJe)d. e, ~~oeJc0 ~ffi)('$Ue> ~zJ ~ 500, e:9Ue> ~ ~ 1 ,500 ~1i.JV 
Q w Q 1.O.g 

w~MOr3 c;:0vffi)eJ e55~ r;3~d ~e.>t1 ~1i.JV 3~11 'lJoz,jeUe>d we..De.J 5~e~~ ~~ ~3d .0WF1i~ 

c::>e>do ~<3o<3iiD r;3,~e~ 5or;3Nl1 d~~c03<>d. 
(V') c:t .J -D 

rJe)~iiD m~l1 ~ 1,100 ~iiD .0WF c;:0v~rJe)d. ~<3c0 we..D c;:0vffi)eJd ~ee5 ck 5 ~c;:0v~, 
..D q_ Q e.J v 

5~e~~ ~1i.JV ck 2 ~v ~,er3rY 5~e~~~iiD r;3~abw ~a5Fbc03<>d. e, C::>eJe> ~tJ.>o1i~iiD ../ c:t ...D M ct 

9. Shashi and Kiran entered into a joint venturc.e sharing profits and losses as ~: 2. 
They opened a bank AI c by depositing ~ 40,000 each. Shashi purchased 800 kg 
of an item at 60 per kg and his expenses were ~ 13,000. Kiran purchased a 
second item of 10,000 kg at 2.10 per kg and his expenses were ~ 11,000. 
Expenses were met from private sources and purchases were paid from bank 
account. Kiran sold ~OO kg of the first item at 100 per kg and his selling 
expenses were ~ 5,500. Shashi sold 8,000 kg of second item at ~ 5 per kg and his 
selling expenses were ~ 6,000. All the sale proceeds were deposited in bank 
account and expenses were met from private sources. 

Write up necessary accounts in the books of the joint venture. 
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8~ ~~ -&0& t;)OZJ CITe>Wr.3O>oru 2;)0e3 en.)!:jtS~deJO)Mr0e3 eJO)?11 ~~ iiJ~~liD~ 3 : 2 ~liDCITe>~d~M 
a5ot3~J.)~~~d. ~c3ru ZJC>tS0US .m>$abliD~ $dd) ~~ CITe>Wr.3O>oru ~ 40,000 .m>$r'i 2;)c;i) 
c3Jvt3ru3<>d. 8~ 800 ~.z;3. meJoliD crl,~ ~.z;3.r'i 60 00$ ~l)et);:i)3<>~ ~3J ~ 13,000 ~23 

....D ct ~ ....D....D l.:!I 

c3Jvri)3<>~. -&0& 10,000 ~.z;3. meJoCii:> crl,~ ~.z;3.r'i ~ 2.10 00$ ~l)et);:i)3<)~ ~3J ~ 11,000 
....D c:t J ...D ...D 

~23 c3Jvri)3<)~. ~231i~liD .m>;:.:lf1 <.::llr.>e>1i~od dl);:i)3<)d e:sdd ~I)et) ~231i~Cii:> ~,oUS .m>$OOJod 
lJ J> lJ ~ 'J> lJ ~v 

~J.)e3ru3<)d. -&0& ~de>~e meJoiiJ 600 ~.z;3.abliD crl,~ ~.z;3.r'i ~ 100 00$ c3Jvm>eJ c3Jvt3 
eJ J> ~_, 

~ 5,500 ~ilif" c3Jvtaru3<>d. 8~ t;)orn~e meJoiiJ 8,000 ~.z;3.abliD crl,~ ~.z;3.r'i ~ 5 00$ c3Jvm>eJ J> ~ _, 

c3Jvt3 ~ 6,000 ~ilif" c3Jvt3ru~d. t;)eJO)M c3Jvm>eJd a5(,;)c3liD~ ZJC>voUS .m>$r'i 2;)c;i) c3Jvtaru~d 
ow rlr.> ~ilif" ~ 231i~liD .m>;:.:l f1 <.::llr.>e>1i ~od ?11 1);:i)3<> d. lJ ~ J> 

10. The following Trial Balance was sent by Mysore Branch to its Head Office 
Bangalore: 

Particulars 

Debtors and Creelitors 
Purchases and Sales 
Goods from head office 
Carriage inwards 
Discounts 
Stock on 1st Jan. 2018 
Vehicles 
Commission 
Salaries 
Rent 
Insurance 
Sundry expenses 
Due to head office 

Dr. Cr. 
(~) (~) 
35,000 -s-oec 
55,000 2,20,000 
22.500 
2,500 
5,000 10,000 

15,000 
14,000 

3,000 
55,000 ~ 
6,500 
1,200 
8,300 

25,000 7,000 
2,45,000 2,45,000 

Adjustments: 
(a) Stock on 31st December 2018 ~ 30,000. 
(b) Insurance was paid for upto 31st March 2019. 

(c) Reserve on debtors at 5%. 
(d) The H.O. lent to the branch the use of plant valued ~ 1,500 and 

depreciation was to be charged at 10%. 
(e) Salaries was paid for 11 months only and rent paid for 13 months. 

Incorporate the branch accounts in the books of H.O. by means of journal 
entries. Prepare Mysore Branch Account in H.O. books. 
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~;ir.)ru ffi)~a:ill e, ~@jli d~trj 3e>El.' cj~oj)~ 2J07WJ.)t:)~ ~QC>~ 5~et:)li 5@jJ&td : 

~c::5dli(!,}J Dr. Cr. 
(M.) (M.) 

~e.>lTe)dru c:0~ ~e')liru 

~t:)et;J c:03J <.:iJ<>m>eJ 
-" 

35,000 5,000 

55,000 2,20,000 

22,500 

2,500 

5,000 10,000 

3,000 

~~d ~iliFli@jJ 

~QC>~ 5~et:)li m~ ~ru~ru 

1,200 

8,300 

25,000 7,000 

2 45,000 2,45,000 

(a) 00l~rj..) 31.12.2018 doru M. 30,000. 
-" 

(b) 

(c) 

(d) ~QC>~ 5~et:) ffi)~ ZJ@jt~J.)~w Net3rj ~ecj5doo zjcl M. 1 ,500 c:0~ ~rjd 

~ee')~ ;;$c::55~ 10%. 

(e) 

e, ~ee')~ c::5vc::5CEe>dli~1i ~QC>~ 5~et:)oj) ~~5li@je')M d/;)etJJ ~c::5J.r.J~li@j~ ~J.)t3 c:0~ ~;ir.)ru 

ffi)~ :m>$oj)rj..) $J.)et:)t. ~ 
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11. From the following particulars, prepare the departmental Trading and Profit and 

Loss A/c for the year ended 31.03.2018 : 

Particulars Dept. A Dept. B 
(~) (~) 

14,000 12,000 

75,100 69,800 

1,00,000 80,000 

1,100 800 

9,000 8,500 

Opening stock 

Purchases 

Sales 

Return outwards 

Salaries 

General salary 

Rent and rates 

Advertising 

Insurance 

Carriage outwards 

Discoun t allowed 

Discount earned 

Accountancy charges 

Carriage inwards 

Additional information: 

(a) General salaries to be allocated equally. 

(b) The area occupied is in the ratio of 3 : 2. 

Total 

(~) 

26,000 

1,44,000 

1,80,000 

1,900 

17,500 

11,600 

6,000 

8,100 

1,000 / 
,/ 

5,400 

1,800 

1,430 

2,860 

1,430 

(c) Insurance premium and accountancy charges cannot be allocated 
conveniently to any department. 

(d) Closing stock of Dept. A was ~ 16,000 and that of Dept. B ~ 17,000. 
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e, ~E',mCiJ ~<=Sdrifliod E3~esF~OeJd c:Je)v~d <=b~ eTe>Q <=b~ CiJ~ m$a,i)~ ~~Ot 

31.12.20 18~.!- ~~~ME'j~<=SO$ 3o.:iJ<>tJ~ : 

rJe)~<ID (~dO~5) 

rutJ{'~ 

(~) (~) 

14,000 12,000 

75,100 69,800 

1,00,000 80,000 

1,100 800 

9,000 8,500 

d5.!-ffi)~.F ~zt (Accountancy charges) 

'WE'j ;:JO)tJ Ii 

(~) 

26,000 

1,44,000 

1,80,000 

1,900 

17,500 

11,600 

(a) ;:JO)ciJc>CiJv ~02JE'j (~3d)<=S~ ~<=b~11 i50zM ciJc>~c:0. 

(b) ~rj{'a e:9<=StJ~dJ~dJ 3 : 2d ~<ID~3d~M. 

(c) ~ciJc> 503_) <=b~ d~ffi)~.F rut5F<lDol o.:iJ<>~rj{' ~?tJe)ri~.!- ;:ir.)~c:Je)11 i50t5W 2JdJ~~~. 

(d) ~o~<=b ~9 E3~esF~oes 'A' ~ 16,000 <=b~ E3~esF~oes 'B' ~ 17,000. 
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6,000 

8,100 

1,000 

5,400 

1,800 

1,430 

2,860 

1,430 


